8.12 Organic Reactions part 1

. Given the balanced equation for an organic reaction:

C2H2 + 2Cl2 — C2H2Cl4
This reaction is best classified as

A) addition
C) fermentation

B) esterification
D) substitution

. Given the incomplete equation representing an
organic addition reaction:

X(g) + Cl2(g) — XCl2(g)
Which compound could be represented by X?

A) CHa4 B) C2H4
C) CsHzs D) C4Hio

. Which formula correctly represents the product of an
addition reaction between ethene and chlorine?
A) CH2Cl2 B) CH3Cl
C) C2H4Cl2 D) C2H3Cl

. As an addition reaction occurs, the number of
electrons shared between carbon atoms

A) decreases
C) remains the same

B) increases

. Base your answer to the following question on the
organic reaction below.
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This reaction is an example of

B) addition
D) saponification

A) fermentation
C) substitution

. Which is an example of an addition reaction?

A) CH3COOH + CH30H — CH3COOCH3 + H
20

B) C2He + Cl2 —» C2HsCIl + HCI
C) C3He + Ho — C3Hg
D) CsH1206 — 2 C2H50H + 2 CO2

7. In which type of reaction can an unsaturated
hydrocarbon become saturated?

A) substitution with hydrogen
B) reduction with oxygen

C) addition

D) oxidation with oxygen

8. Consider the reaction below:
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What is the structural formula of the product
represented by the X?

A) H H B) H Br
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9. The reaction
CHa + H2 —» CoHs

is an example of

A) addition
C) saponification

B) substitution
D) esterification

10. Which structural formula represents the product
formed from the reaction of Clz2 and C2H4?
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Given the balanced equation representing a reaction:

CHgCHgCHg + BI‘Q — CH3CH2CH2BI‘ + HBr

This organic reaction is best classified as

A) an addition reaction

B) an esterification reaction
C) apolymerization reaction
D) a substitution reaction

Given the equation:
C2He+ Cl2 — C2HsCl + HCI

This reaction is best described as

A) addition involving a saturated hydrocarbon
B) addition involving an unsaturated hydrocarbon
C) substitution involving a saturated hydrocarbon

D) substitution involving an unsaturated
hydrocarbon

Given the equation:
CHa4 + Br2 — CH3Br + HBr

Which type of reaction does this equation represent?

A) addition
C) polymerization

B) hydrogenation
D) substitution

Which compound will undergo a substitution
reaction with chlorine?

A) CHs B) C2Hs4 C) C3He D) C4Hs

Which hydrocarbon will undergo a substitution
reaction with chlorine?

A) methane
C) propene

B) ethyne
D) butene

What type of reaction is

CH3CH3 + Cl2 — CH3CH2CI + HCI?

A) an addition reaction

B) a substitution reaction
C) saponification reaction
D) an esterification reaction
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Which equation represents a substitution reaction?

A) C2Hsa +H2 — C2He

B) CH4+202 — 02+2H20

C) CsHs +Cl2 — C3H7Cl + HCI

D) C4Hg +Br2 — C4HsBr2

Which organic product is formed by the reaction

below?
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A) bromoethane
C) bromoethyne

B) bromoethene
D) bromobenzene

Which type of reaction is represented by the
equation
CHs + Br2 — CH3Br + HBr?

B) addition
D) polymerization

A) substitution
C) esterification

The reaction

CsHio + Br2 — CsHoBr + HBr

is an example of

A) substitution
C) fermentation

B) addition
D) polymerization




